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PAIR OF LINEAR EQUATIONS IN TWO VARIABLES

1. For what value of p will the following pair of linear equations
have infinitely many solutions.
(p—3)z+3y=p

pr + py = 12

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_vZ99alUopSNA
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o Watch Video Solution

3. Solve the following system of equations :

21 47

+ == =110
r oy
47 21
=2 —162,2,y£0
r oy

° Watch Video Solution

Self Assessment 1 Multiple Choice Questions

1. The pair of |lines represented by the equations
2¢ +y+ 2 =0 and 4x + ky + 6 = 0 will be parallel if value of k

is


https://dl.doubtnut.com/l/_ifGnUjHN6EWW
https://dl.doubtnut.com/l/_EzZAS8fDh4bL
https://dl.doubtnut.com/l/_HnN8fuC1Rofz

A2

|~ | on

Answer:

o Watch Video Solution

2.Thelines 22 + y = 3 and 4x + 2y = 6 are

A. parallel

B. coincident

C.intersecting

D. none of these


https://dl.doubtnut.com/l/_HnN8fuC1Rofz
https://dl.doubtnut.com/l/_7S1KgYY9zZjC

Answer:

o Watch Video Solution

a b c . : .
3.0f =L = L £ L then the pair of linear equations has
az by C2

A. one solution
B. two solutions
C. No solution

D. Infinitely many solutions

Answer: C

o Watch Video Solution

Self Assessment 1 Fill In The Blanks


https://dl.doubtnut.com/l/_7S1KgYY9zZjC
https://dl.doubtnut.com/l/_jsPorHtNEvLg
https://dl.doubtnut.com/l/_57Fd5XS6RwYw

1. Pair of linear equation are ¢ — 2y = 3 and 3z + y = 6, then

the nature of solution is .......

o Watch Video Solution

2. The pair of linear equation
dr +py+8 =0 and 2z + 2y + 2 = 0 have unique solution,

when value of p is

o Watch Video Solution

3. The pair of linear equations = +2y=3,5z +ky+7=0

represents parallel lines, when the value of k is

o Watch Video Solution

Self Assessment 1 Very Short Answer Type Questions



https://dl.doubtnut.com/l/_57Fd5XS6RwYw
https://dl.doubtnut.com/l/_RL76GmvnJwAj
https://dl.doubtnut.com/l/_sodF42aEWXMm

1. Find the value (s) of so that the pair of equations

x + 2y =5 and 3z + ky + 15 = 0 has a unique solution

o Watch Video Solution

2.Two lines are given to be paralle. The equation of one of the line

is 4z + 3y = 14, then find the equation of a second line.

° Watch Video Solution

3. If am= bl, then find whether the pair of linear equations
ax + by = ¢ and lx + my = n has no solution, unique solution

or infinitely many solutions

o Watch Video Solution



https://dl.doubtnut.com/l/_eEAayQHMLtqj
https://dl.doubtnut.com/l/_G5KLzkgcdDNP
https://dl.doubtnut.com/l/_YJTZOSNttjcL

Self Assessment 1 Short Answer Type Questions |

1. Find whether the lines represented by
2c+y=3 and 4z + 2y =6 are parallel, coincident or

intersecting.

o Watch Video Solution

2. Find whether the following pair of linear equations is consistent
or inconsistent:

3z +2y =8 and 6x —4y =9

o Watch Video Solution

3. Given that linear equation 3z + 4y = 9. Write another linear

equation in these two variables such that the geometrical


https://dl.doubtnut.com/l/_8eNVhmKhR0X1
https://dl.doubtnut.com/l/_1mnqi3zGtP6V
https://dl.doubtnut.com/l/_9MCJkCDLoZbl

represention of the pair so formed is

intersecting lines

o Watch Video Solution

4. Given that linear equation 3z + 4y = 9. Write another linear
equation in these two variables such that the geometrical
represention of the pair so formed is

coincident lines

o Watch Video Solution

Self Assessment 1 Short Answer Type Questions li

1. Determine the values of mandn so that the following system of

linear equations have infinite number of solutions:

3z+(n—1y—2=0


https://dl.doubtnut.com/l/_9MCJkCDLoZbl
https://dl.doubtnut.com/l/_tVnTgxANxLvZ
https://dl.doubtnut.com/l/_cOWfeYp1LVEB

o Watch Video Solution

2. Solve the pair of equations graphically:

dr —y=4 and 3z + 2y =14

o Watch Video Solution

3. Represent the following pair of linear equations graphically and
hence comment on the condition of consistency of this pair

x — 5y = 6,2x — 10y = 12

° Watch Video Solution

Self Assessment 1 Long Answer Type Question |



https://dl.doubtnut.com/l/_cOWfeYp1LVEB
https://dl.doubtnut.com/l/_Olkm9pq0edXS
https://dl.doubtnut.com/l/_ZCtmesAqqI9K

1. For Uttarakhand flood victims two sections A and B of class X
contributed Rs 1,500. If the contribution of X-A was Rs 100 less than
that of X-B, find graphically the amounts contributed by both the

sections.

o Watch Video Solution

2. Solve graphically the pair of linear equations:
3z +4y+ 3 =0 and 3z + 4y — 21 = 0. Find the co-ordinates of
the vertices of the triangular region formed by these lines and X-

axis. Also, calculate the area of this triangle.

o Watch Video Solution

3. Solve the following pair of linear equations graphically:

x + 3y = 6 and 2z — 3y = 12. Also, shade the region bounded


https://dl.doubtnut.com/l/_Hf7LRW1hyPwN
https://dl.doubtnut.com/l/_fDhjpdMM6btb
https://dl.doubtnut.com/l/_3OxhzBftZEeX

by the line 2z — 3y = 12 and both the co-ordinate axes.

o Watch Video Solution

Self Assessment 1 Cose Study Based Questions

M’:f

o — 'I'"I-l-
.-'—"'--_.._.--"'-l"q—-—"
e -
- - —

— e,
g

A boat goes 30km upstream and 44km down stream in 10 hours. In
13 hours, it can go 40km upstream and 55km downstream. If the
speed of the boat in still water be x km/h and speed of the stream
be y km/h. Then.

Write the speed of the boat towards downstream.


https://dl.doubtnut.com/l/_3OxhzBftZEeX
https://dl.doubtnut.com/l/_jz0rsWWdAECe

A.x X ykm /h

B.(z + y)km /h

C.(x —y)km/h
D. Zkm /h
Y
Answer:

o Watch Video Solution

s, e il
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A boat goes 30km upstream and 44km down stream in 10 hours. In

13 hours, it can go 40km upstream and 55km downstream. If the



https://dl.doubtnut.com/l/_jz0rsWWdAECe
https://dl.doubtnut.com/l/_HzdGpTtyZyg3

speed of the boat in still water be x km/h and speed of the stream
be y km/h. Then.
Find the speed d the boat towards upstream.
A Zkm/h
Y
B.(x —y)km /h
C.z x ykm /h

D.(z +y)km/h

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_HzdGpTtyZyg3
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A boat goes 30km upstream and 44km down stream in 10 hours. In
13 hours, it can go 40km upstream and 55km downstream. If the
speed of the boat in still water be x km/h and speed of the stream
be y km/h. Then.

Time is equal to .....

A.distance X speed

speed
" distance

distance
speed

D. none of these


https://dl.doubtnut.com/l/_9ao3hdZL2Ami

Answer:

o Watch Video Solution

4,
A boat goes 30km upstream and 44km down stream in 10 hours. In
13 hours, it can go 40km upstream and 55km downstream. If the

speed of the boat in still water be x km/h and speed of the stream
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be y km/h. Then.

Write the equation, when boat goes 30km upstream and 44km

downstream in 10 hours.

30 44

. +
z+Yy r—Y

=10



https://dl.doubtnut.com/l/_9ao3hdZL2Ami
https://dl.doubtnut.com/l/_t5U2S4teiWFn

30 44

B. — =10
r—y Tty
30 44
C. — =10
r+y r—y
30 44
D. + =10
r—y Tty
Answer:

o Watch Video Solution

5.
A boat goes 30km upstream and 44km down stream in 10 hours. In
13 hours, it can go 40km upstream and 55km downstream. If the

speed of the boat in still water be x km/h and speed of the stream


https://dl.doubtnut.com/l/_t5U2S4teiWFn
https://dl.doubtnut.com/l/_WDNb2sGjri9s

be y km/h. Then.
Write the equation when boat goes 40km upstream and 55km

downstream in 13 hours.

5%}

A 20 + =13
r—Yy T+Yy
4 5%}

B. 0 _ =13
r—Yy T+y
4 95

C. 0 + =13
r+y r—y
4 95

D. 0 _ =13

T +Yy r—Y

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_WDNb2sGjri9s
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Akhila went to a fair in her village. She wanted to enjoy rides on the
Giant wheel and play Hoopla (a game in which you throw a ring on
the items kept in a stall, and if the ring covers any object
completely, you get it) The number of times she played Hoopla is
half the number of rides she had on the Giant wheel. The cost of
each ride is Rs 3 and the cost of each game of Hoopla is Rs 4. She
spent Rs 20 on both the game.

Write the two equations from the given information.

Ax—2y=0and 3z + 4y = 20


https://dl.doubtnut.com/l/_iVzugp5XOaE1

B.2xr —y =0 and 3x + 4y = 20

Cx+2y=0and 3z + 4y = 20

D.2x +y =0 and 3z + 4y = 20

Answer:

o Watch Video Solution
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7.

Akhila went to a fair in her village. She wanted to enjoy rides on the
Giant wheel and play Hoopla (a game in which you throw a ring on

the items kept in a stall, and if the ring covers any object


https://dl.doubtnut.com/l/_iVzugp5XOaE1
https://dl.doubtnut.com/l/_s5NoyRj0nQiI

completely, you get it) The number of times she played Hoopla is
half the number of rides she had on the Giant wheel. The cost of
each ride is Rs 3 and the cost of each game of Hoopla is Rs 4. She
spent Rs 20 on both the game.
Find the number of rides that Akhila had on the Giant wheel.

A2

B.4

C.3

D.5

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_s5NoyRj0nQiI
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Akhila went to a fair in her village. She wanted to enjoy rides on the
Giant wheel and play Hoopla (a game in which you throw a ring on
the items kept in a stall, and if the ring covers any object
completely, you get it) The number of times she played Hoopla is
half the number of rides she had on the Giant wheel. The cost of
each ride is Rs 3 and the cost of each game of Hoopla is Rs 4. She
spent Rs 20 on both the game.

Find the number of times Akhila played Hoopla.

Al

B.3


https://dl.doubtnut.com/l/_6FnayAbaqtJC

C.4

D.2

Answer:

o Watch Video Solution

9.
Akhila went to a fair in her village. She wanted to enjoy rides on the
Giant wheel and play Hoopla (a game in which you throw a ring on
the items kept in a stall, and if the ring covers any object

completely, you get it) The number of times she played Hoopla is


https://dl.doubtnut.com/l/_6FnayAbaqtJC
https://dl.doubtnut.com/l/_l0qni53A3X2P

half the number of rides she had on the Giant wheel. The cost of

each ride is Rs 3 and the cost of each game of Hoopla is Rs 4. She

spent Rs 20 on both the game.

Find the amount that she spent on playing Hoopla

A.Rs 8

B.Rs 16

C.Rs 12

D.Rs 18

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_l0qni53A3X2P

10.
Akhila went to a fair in her village. She wanted to enjoy rides on the
Giant wheel and play Hoopla (a game in which you throw a ring on
the items kept in a stall, and if the ring covers any object
completely, you get it) The number of times she played Hoopla is
half the number of rides she had on the Giant wheel. The cost of
each ride is Rs 3 and the cost of each game of Hoopla is Rs 4. She
spent Rs 20 on both the game.

Find the amount that she spent on ride of Giant wheel.

A.Rs 8

B.Rs 16


https://dl.doubtnut.com/l/_AslTEeuydyrd

C.Rs 12

D.Rs 10

Answer:

o Watch Video Solution

aY

1.

Read the graph carefully:


https://dl.doubtnut.com/l/_AslTEeuydyrd
https://dl.doubtnut.com/l/_D7WvWIBGtPQT

What can you say about These lines, these line are ......

A. Intersecting lines

B. Coincident line

C. Parallel lines

D. none of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_D7WvWIBGtPQT

12. 'y

Read the graph carefully:

Write the algebraic condition, when two lines are intersecting

lines.
A _ b
a9 b2
a; by
B. — —
az 7 b2
cu_b_a
a9 bQ Cy
p A _b_a

az ba Co


https://dl.doubtnut.com/l/_ghwL3BulLan0

Answer: B

o Watch Video Solution

&Y

13.
Read the graph carefully:

Write the algebraic condition when two lines are parallel


https://dl.doubtnut.com/l/_ghwL3BulLan0
https://dl.doubtnut.com/l/_MTXAAYHZKKvZ

B — —_
a ?é b2
a b
c 4 _ a
as by c2
a b c
D =L _ ‘L - hes
as by c2
Answer: D

o Watch Video Solution

14.

Read the graph carefully:


https://dl.doubtnut.com/l/_MTXAAYHZKKvZ
https://dl.doubtnut.com/l/_ijKWmX7Eiq9j

Write the consistency for coincident lines

A. Consistent

B. Dependent consistent

C.In consistent

D. none of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ijKWmX7Eiq9j

15.

Read the graph carefully:

Write the point where given two lines are intersect

A.(2,4)

B.(3,2)

C.(2,3)

D. (4,2)


https://dl.doubtnut.com/l/_FOSQixIoRcTD

Answer:

o Watch Video Solution

Self Assessment 2 Multiple Choice Questions

1.If x=aand y = b is the solution of the equations x-y=2 and x +y

=4 , then the values of a and b are, respectively

A. a=3, b=1

B. a=1,b=3

Ca= —3,b= —1

D.a= —3,b=1

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_FOSQixIoRcTD
https://dl.doubtnut.com/l/_v88OVFxOINk3

2. Solution of pair of linear equations z + 2y =2 and z — 3y =7

is

Az =4y=1

Br= —4y=1

Czx=4y= —1

Dz = —4,y= —1
Answer:

o Watch Video Solution

3. Two numbers are in the ratio 5: 6. If 8 is subtracted from each of

the numbers, the ratio becomes 4: 5. Then, the numbers are

A.40 and 48


https://dl.doubtnut.com/l/_Pks43gFqcvRc
https://dl.doubtnut.com/l/_BPEuojnXUHt3

B.30a nd 35

C.40 and 60

D. 50 and 60

Answer:

o Watch Video Solution

Self Assessment 2 Fill In Blanks

1. On solving pair of linear equations

2z +y = 23 and 4x — y = 19, value of y will be .......

o Watch Video Solution



https://dl.doubtnut.com/l/_BPEuojnXUHt3
https://dl.doubtnut.com/l/_9tKGIYKrtsYw

2. If the solution of pair of |linear equations
2¢ —3y=13 and Tx — 2y =20 is * =2 and y = — 3, then

the value of m for whichy = ma + Tis

° Watch Video Solution

3. The solution of system of equations z +y = 8,2z — 3y = 1is

and

° Watch Video Solution

Self Assessment 2 Very Short Answer Type Question

1. Sum of the ages of a father and the son is 40 years. If father's

age is three times that of his son, then find their respective ages.

° Watch Video Solution



https://dl.doubtnut.com/l/_coRyiAppvI8e
https://dl.doubtnut.com/l/_JRN3vclhMyw8
https://dl.doubtnut.com/l/_7lyAEa7Kv8cK

2. The angle of a triangle are x, y and 40. The difference between

the two angles x and y is 30. Find the value of x and y.

o Watch Video Solution

3. The sum of the digits of a two-digit number is 9. If 27 is added to

it, the digit of the number get reversed. Find the numbers

° Watch Video Solution

Self Assessment 2 Short Answer Type Questions |



https://dl.doubtnut.com/l/_7lyAEa7Kv8cK
https://dl.doubtnut.com/l/_pnypBJxKqSfu
https://dl.doubtnut.com/l/_OHYkMXyWwMNd

1.In Fig, ABCD is a rectangle. Find the values of x and y.

I+! II---

(£ =y

o Watch Video Solution

2. Solve the following pair of linear equations by substitution
method:

3r+2y—7=0and 4z +y—6=0

° Watch Video Solution



https://dl.doubtnut.com/l/_duEmzfCVMSqd
https://dl.doubtnut.com/l/_YImkOZgC9DKR
https://dl.doubtnut.com/l/_N1nHJgh0DLX5

3. The incomes ratio of two persons A and B are in the ratio 8:7
and the ratio of their expenditures is 19: 16. If their saving are Rs

2550 per month, then their monthly incomes.

o Watch Video Solution

Self Assessment 2 Short Answer Type Questions li

1. Raghav scored 70 marks in a test, getting 4 marks for each right

answer the losing 1 marks for each wrong answer. By mistake,
examinee awarded 5 marks for each correct answer and deducted 2
marks been for each wrong answer, then Raghav would have

scored 80 marks. How many questions were there in the test?

o Watch Video Solution



https://dl.doubtnut.com/l/_N1nHJgh0DLX5
https://dl.doubtnut.com/l/_Af52mKvGsVnb

2. A part of monthly hostel charge is fixed and the remaining
depends on the number of days one has taken food in the mess.
When Swati takes food for 20 days, she has to pay Rs 3,000 as
hostel charges whereas Mansi who takes food for 25 days has to
pay Rs 3,500 as hostel charges. Find the fixed charges and the cost

of food per day.

° Watch Video Solution

2
3.So|veforxandy:%—|— ?y = —1and z — % =3

° Watch Video Solution

Self Assessment 2 Long Answer Type Questions



https://dl.doubtnut.com/l/_1isJc6rn49fG
https://dl.doubtnut.com/l/_P9B1A7zcJZSp

1. The area of a rectangle gets reduced by a 9 square units, if its
length is reduced by 5 units and the breadth is increased by 3
units. The area is increased by 67 sqaure units if length is increased
by 3 units and breadth is increased by 2 units. Find the perimeter

of the rectangle.

o Watch Video Solution

2.4 chairs and 3 tables cost Rs 2100 and 5 chairs and 2 tables cost

Rs 1750. Find the cost of a chair and a table separately.

o Watch Video Solution

3. If 2 is subtracted from the numerator and 1 is added to the

1
denominator, a fraction becomes BY but when 4 is added to the


https://dl.doubtnut.com/l/_hipSfgPelK46
https://dl.doubtnut.com/l/_nYpw2if2yWhm
https://dl.doubtnut.com/l/_wOQVw2za5rX5

numerator and 3 is subtracted from the denominator, it becomes

3
7 Find the fraction.

o Watch Video Solution

Ncert Corner Exercise 3 1

1. Aftab tells his daughter, "Seven years ago, | was seven times as

old as you were then. Also, three years from now, | shall be three
times as old as you will be." (Isn't this interesting?) Represent this

situation algebraically and graphically.

o Watch Video Solution

2.The coach of a cricket team buys 3 bats and 6 balls for Rs 3,900.
Later, she buys another bat and 3 more ball of the same kind for Rs

1,300. Represent this situation algebraically and geometrically.


https://dl.doubtnut.com/l/_wOQVw2za5rX5
https://dl.doubtnut.com/l/_pPFLbEXH60AO
https://dl.doubtnut.com/l/_gIKZLK29UmzJ

° Watch Video Solution

3.The cost of 2kg of apples and 1 kg of grapes on a day was found
to be Rs 160. After a month, the cost of 4 kg of apples and 2 kg of
grapes is Rs 300. Represent the situation algebraically and

geometrically.

o Watch Video Solution

Ncert Corner Exercise 3 2

1. Form the pair of linear equations in the following problems, and

find their solutions graphically.
10 students of Class X took part in a Mathematics quiz. If the
number of girls is 4 more than the number of boys, find the

number of boys and girls who took part in the quiz.



https://dl.doubtnut.com/l/_gIKZLK29UmzJ
https://dl.doubtnut.com/l/_oZsBr1OnPOvL
https://dl.doubtnut.com/l/_RBrmQnqQjevP

_ o Watch Video Solution

2. Form the pair of linear equations in the following problems, and
find their solutions graphically.

5 pencils and 7 pents together cost Rs 50, whereas 7 pencils and 5
pens together cost Rs 46. Find the cost of one pencil and that of

one pen.

o Watch Video Solution

: . _a; b c
3. On comparing the ratios —1. L and 2, find out whether the
az 02 C2
lines representing the following pairs of linear equations intersect
at a point, are parallel or coincident:

5 —4y+8 =10

7r+6y—9=0

° Watch Video Solution



https://dl.doubtnut.com/l/_RBrmQnqQjevP
https://dl.doubtnut.com/l/_n2YUg6S5s5ZJ
https://dl.doubtnut.com/l/_PIHxZYh50c4G

. . a c
4. On comparing the ratios —1, L and =L, find out whether the
az by Co
lines representing the following pairs of linear equations intersect
at a point, are parallel or coincident:

9z +3y+12 =10

18z + 6y + 24 =0

o Watch Video Solution

b
5. On comparing the ratios ﬂ, L and c—l, find out whether the

az 02 C2
lines representing the following pairs of linear equations intersect
at a point, are parallel or coincident:

6 — 3y + 10 = 0

2r —y+9=0

° Watch Video Solution



https://dl.doubtnut.com/l/_PIHxZYh50c4G
https://dl.doubtnut.com/l/_zj5UgJFPk42R
https://dl.doubtnut.com/l/_X45c2ViWULnU
https://dl.doubtnut.com/l/_kEXFgRuY0AQB

a; b c
6. On comparing the ratios —1, — and =L, find out whether the
as by Ca

following pair of linear equations are consistent, or inconsistent.

3z +2y=52x —3y="7

° Watch Video Solution

b
7. 0On comparing the ratios ﬂ, b—l and C—l, find out whether the

az 2 C2

following pair of linear equations are consistent, or inconsistent.

2¢ — 3y =8,4x — 6y =9

o Watch Video Solution

a; b c
8. On comparing the ratios —1, — and —1, find out whether the
a by Ca

following pair of linear equations are consistent, or inconsistent.

5 -|—5 =179 10y = 14
2 ¥ 3y—,x Y=

o Watch Video Solution



https://dl.doubtnut.com/l/_kEXFgRuY0AQB
https://dl.doubtnut.com/l/_5YluzqE5KiCL
https://dl.doubtnut.com/l/_5xGpwYaIUqtX

a; b c
9. On comparing the ratios —1, L and =, find out whether the
a9 b2 Co

following pair of linear equations are consistent, or inconsistent.

5r — 3y = 11, — 10z + 6y = — 22

o Watch Video Solution

b
10. On comparing the ratios ﬂ, — and C—l, find out whether the
as b Ca

following pair of linear equations are consistent, or inconsistent.

4
§m+2y=8,2w—i—3y=12

o Watch Video Solution

1. Which of the following pairs of linear equations are
consistent/inconsistent? If consistent, obtain the solution
graphically:

x+y=>52zx+ 2y =10



https://dl.doubtnut.com/l/_eHoLGCYztx9R
https://dl.doubtnut.com/l/_SvYrYYewsZTK
https://dl.doubtnut.com/l/_widWPrjltv5B

| ° Watch Video Solution

12. Which of the following pairs of linear equations are
consistent/inconsistent? If consistent, obtain the solution
graphically:

x—y=283x —3y =16

° Watch Video Solution

13. Which of the following pairs of linear equations are
consistent/inconsistent? If consistent, obtain the solution
graphically:

2 +y—6=0,4z —2y—4=0

o Watch Video Solution



https://dl.doubtnut.com/l/_widWPrjltv5B
https://dl.doubtnut.com/l/_T9jFIWUo10al
https://dl.doubtnut.com/l/_5tib3bQnNdTx

14. Which of the following pairs of linear equations are
consistent/inconsistent? If consistent, obtain the solution
graphically:

2r —2y—2=0,4c —4y—-5=0

o Watch Video Solution

15. Half the perimeter of a rectangular garden, whose length is 4 m

more than its width, is 36 m. Find the dimensions of the garden.

o Watch Video Solution

16. Given the linear equation 2z + 3y — 8 = 0 , write another
linear equation in two variables such that the geometrical
representation of the pair so formed is (i) intersecting lines (ii)

Parallel lines (iii) coincident lines



https://dl.doubtnut.com/l/_FyQg0NzlaLY7
https://dl.doubtnut.com/l/_JUPj075eXHeK
https://dl.doubtnut.com/l/_vRkDHG9k2DRR

| o Watch Video Solution

17. Given the linear equation 2x 4+ 3y — 8 = 0 , write another
linear equation in two variables such that the geometrical
representation of the pair so formed is (i) intersecting lines (ii)

Parallel lines (iii) coincident lines

o Watch Video Solution

18. Given the linear equation 2z + 3y — 8 = 0, write another linear
equation in two variables such that the geometrical representation
of the pair so formed is

coincident lines

o Watch Video Solution



https://dl.doubtnut.com/l/_vRkDHG9k2DRR
https://dl.doubtnut.com/l/_WBIFZOlbanRC
https://dl.doubtnut.com/l/_yVe03krXfern

19. Draw the graphs of the equations
x—y+1=0and 3x +2y — 12 =0. Determine the co-
ordinates of the vertices of the triangle formed by these lines and

the x-axis, and shade the triangular region.

° Watch Video Solution

Ncert Corner Exercise 3 3

1. Solve the following pair of linear equations by the substitution

method:
x+y=14

xT— Y=

o Watch Video Solution



https://dl.doubtnut.com/l/_gZA9elZToznl
https://dl.doubtnut.com/l/_6WhjvlTEfLJM

2. Solve the following pair of linear equations by the substitution

method:

o Watch Video Solution

3. Solve the following pair of linear equations by the substitution

method:
3r —y=3
9 — 3y =9

o Watch Video Solution

4. Solve the following pair of linear equations by the substitution

method:


https://dl.doubtnut.com/l/_Tl1fZIaCw7ol
https://dl.doubtnut.com/l/_DcQvBb0VgJxp
https://dl.doubtnut.com/l/_rAWKQENKxexr

0.2z + 0.3y = 1.3

0.4z + 0.5y = 2.3

o Watch Video Solution

5. Solve the following pair of linear equations by the substitution

method:
V2z + /3y =10
V3z — /8y =0

o Watch Video Solution

6. Solve the following pair of linear equations by the substitution

method

3x 5y
i A —
2 3

T y_13
57276

° Watch Video Solution



https://dl.doubtnut.com/l/_rAWKQENKxexr
https://dl.doubtnut.com/l/_TTBodVVN6a5R
https://dl.doubtnut.com/l/_OmzZHKsgAXtA

7. Solve 2z 4+ 3y = 11 and 2x — 4y = — 24 and hence find the

value of 'm' for which y= mx+ 3.

° Watch Video Solution

8. Form the pair of linear equations for the following problems and
find their solution by substitution method.
The difference between two numbers is 26 and one number is

three times the other. Find them.

o Watch Video Solution

9. The larger of two supplementary angles exceeds the smaller by

18 degrees. Find them.

° Watch Video Solution



https://dl.doubtnut.com/l/_OmzZHKsgAXtA
https://dl.doubtnut.com/l/_4csjo0EAzTrk
https://dl.doubtnut.com/l/_n27YI19byrvl
https://dl.doubtnut.com/l/_hjCXEvpNCf9f

10. The coach of a cricket team buys 7 bats and 6 balls for Rs 3800.
Later, he buys 3 bats and 5 balls for Rs 1750. Find the cost of each

bat and each ball.

o Watch Video Solution

11.vi61 34

o Watch Video Solution

12. Form the pair of linear equations for the following problems
and find their solution by substitution method.

A fraction becomes %, if 2 is added to both the numerator and
the denominator. If, 3 is added to both the numerator and the

5
denominator it becomes E Find the fraction.


https://dl.doubtnut.com/l/_hjCXEvpNCf9f
https://dl.doubtnut.com/l/_g9uQAsclh6SM
https://dl.doubtnut.com/l/_3OsrncRYh47h
https://dl.doubtnut.com/l/_rU3khrkB0asw

o Watch Video Solution

13. 20. Five years hence, the age of Jacob will be three times that of
his son. Five years ago, ag was years Jacob's seven times that of his

son. What are their present ages?

o Watch Video Solution

Ncert Corner Exercise 3 4

1. Solve the following pair of linear equations by elimination

method :

x+y=>5and 2z — 3y = 4.

o Watch Video Solution



https://dl.doubtnut.com/l/_rU3khrkB0asw
https://dl.doubtnut.com/l/_BNgKidmhdq5g
https://dl.doubtnut.com/l/_8iV3A6V0nMRC

2. Solve the following pai of linear equation by elimination
methods :

3z + 4y = 10 and 2x — 2y = 2.

° Watch Video Solution

3. Solve the following pair of linear equations 3z — 5y = 4 and

2y 4+ 7 =9

° Watch Video Solution

4. Solve the following pair of linear equations.

2
Y _ —la,nd:c—£:3

4
2 "3 3

o Watch Video Solution



https://dl.doubtnut.com/l/_jXP1UExRJdV9
https://dl.doubtnut.com/l/_gmiShycshlbF
https://dl.doubtnut.com/l/_LhBhE4hzXlhM

5. Form the pair of linear equations in the following problems, and
find their solutions (if they exist) by the elimination method:(i) If
we add 1to the numerator and subtract 1 from the denominator, a

fraction reduces to 1. It becomes Eif we on

o Watch Video Solution

6. Five years ago, Nuri was thrice as old as Sonu. Ten years later,

Nuri will be twice as old as Sonu. How old are Nuri and Sonu?

° Watch Video Solution

7.The sum of the digits of a two-digit number is 9. Also, nine times
this number is twice the number obtained by reversing the order

of the digits. Find the number.

° Watch Video Solution



https://dl.doubtnut.com/l/_mJD0EscRnIad
https://dl.doubtnut.com/l/_quLKSDb1wzsc
https://dl.doubtnut.com/l/_GU7ntOuDSWWl

8. Meena went to a bank to withdraw Rs.2,000. She asked the
cashier to give her Rs.50 and Rs.100 notes only. Meena got 25 notes

in all. Find how many notes of Rs.50 and Rs.100 she received.

o Watch Video Solution

9. A lending library has a fixed charge for the first three days and
an additional charge for each day thereafter. Saritha paid Rs 27 for
a book kept for seven days, while Susy paid Rs 21 for the book she
kept for five days. Find the fixed charge and the charge for each

extra day.

o Watch Video Solution

Ncert Corner Exercise 3 5



https://dl.doubtnut.com/l/_GU7ntOuDSWWl
https://dl.doubtnut.com/l/_8xw5iZKVragp
https://dl.doubtnut.com/l/_fbzmDkGwCe0M
https://dl.doubtnut.com/l/_CY4GBFrwPZLv

1. Which of the following pairs of linear equations has unique
solution, no solution, or infinitely many solutions. In case there is a
unique solution, find it by using cross multiplication method. (i)\ \ \

\ x 3y 3=0;\ \ 3x 9y 2=0(i i)\ \ \ 2x+y=5;\

° Watch Video Solution

2. Is the pair of linear equations 2z + y = 5 and 3z + 2y = 8 has
unique solution ? In case there is a unique solution,find it by using

cross multiplication method.

o Watch Video Solution

3.In the following system of equations determine whether it has
unique solution, no solution or infinitely many solutions. In case

there is a unique solution, find it: 3z — 5y = 20, 6x — 10y = 40

| - |


https://dl.doubtnut.com/l/_CY4GBFrwPZLv
https://dl.doubtnut.com/l/_KXdo5J4zT5CY
https://dl.doubtnut.com/l/_qMAjaoZ5ozTz

| & Watch Video Solution

4. Which of the following pairs of linear equations has unique
solution, no solution, or infinitely many solutions. In case there is a
unique solution, find it by using cross multiplication method.
x—3y—7=0

3z —3y—15=0

° Watch Video Solution

5. (i) For which values of a and b does the following pair of linear
equations have an infinite number of solutions?

2x+3y=7

(@-b)x+(a+b)y=3a+b-2

(ii) For which value of k will the following pair of linear equations

have no solution?


https://dl.doubtnut.com/l/_qMAjaoZ5ozTz
https://dl.doubtnut.com/l/_v8tqlU1F1ZrA
https://dl.doubtnut.com/l/_RLCwGGMRZLdf

3x+y=1

(2k-T)x + (k-1)y =2k +1

o Watch Video Solution

6. For which value of k will the following pair of linear equations
have no solutions?
3z +y=1

(2k — )z + (k— 1)y =2k + 1

o Watch Video Solution

7. Solve the following pair of linear equations by the substitution

and crossmultiplication methods:8z + 5y = 93z + 2y = 4

° Watch Video Solution



https://dl.doubtnut.com/l/_RLCwGGMRZLdf
https://dl.doubtnut.com/l/_URiRN9onbJBd
https://dl.doubtnut.com/l/_caZkS8bTIJl1
https://dl.doubtnut.com/l/_zBHS4Dw1ojos

8. Form the pair of linear equations in the following problems and
find their solutions (if they exist) by any algebraic method :(i) A
part of monthly hostel charges is fixed and the remaining depends

on the number of days one has taken food in th

° Watch Video Solution

9. A fraction becomes 3 when 1 is subtracted from the numerator

and it becomes 1 when 8 is added to its denominator. Find the

fraction.

o Watch Video Solution

10. Yash scored 40 marks in a test, getting 3 marks for each right
answer and losing 1 mark for each wrong answer. Had 4 marks been

awarded for each correct answer and 2 marks been deducted for


https://dl.doubtnut.com/l/_zBHS4Dw1ojos
https://dl.doubtnut.com/l/_KGGzMGBQgobc
https://dl.doubtnut.com/l/_6eUQezTFs51j

each incorrect answer, then Yash would have scored 50 marks. How

many questions were there in the test?

° Watch Video Solution

11. Places A and B are 100 km apart on a highway. One car starts
from A and another from b at the same time. If the cars travel in
the same direction at different speeds, they meet in 5 hours. If they
travel towards each other, they meet in 1 hour. What are the

speeds of the two cars

o Watch Video Solution

12. The area of a rectangle gets reduced by 9 square units if its
length is reduced by 5 units and breadth is increased by 3 units. If

we increase the length by 3 units and the breadth by 2 units, the


https://dl.doubtnut.com/l/_6eUQezTFs51j
https://dl.doubtnut.com/l/_uhtzpFbQyFLZ
https://dl.doubtnut.com/l/_7dZn1FMir6dQ

area increases by 67 squ units. Find the dimensions of the

rectangle.

o Watch Video Solution

Ncert Corner Exercise 3 6

1. Solve the following pairs of equations by reducing them to a pair

of linear equations:

1_'_1_2
2z 3y
1+1_13
3z 2y 6

o Watch Video Solution

2. Solve the following pairs of equations by reducing them to a pair

of linear equations:


https://dl.doubtnut.com/l/_7dZn1FMir6dQ
https://dl.doubtnut.com/l/_zXe3FNaEOQxE
https://dl.doubtnut.com/l/_1vJqcxwrTR6c

o Watch Video Solution

3. Solve the following system

4
— + 3y = 14, E—4y:23
x x

of

equations:

o Watch Video Solution

4. Solve the following pair of equations by reducing them to a pair

of linear equations: + =2

x—1 y— 2 x—1

o Watch Video Solution



https://dl.doubtnut.com/l/_1vJqcxwrTR6c
https://dl.doubtnut.com/l/_7z2bU8Wtpdac
https://dl.doubtnut.com/l/_R9gBUWilThcf

5. Slve the following pairs of equations by reducting them to a pair

of linear equations:

Tr — 2
(i)u:5
Ty
8 7
ST _ 5
ry
iy 13
“3w+y+3w—y_4
1 1 —1

23z +y) 23z —vy) 8

° Watch Video Solution

6.6z + 3y = b6xy; 2 + 4y = Sy

o Watch Video Solution

7.Solve the simultaneous equations.

10 2 15 5
= :4, :—2
Tty r—y

x—f—y_a:—y

o Watch Video Solution



https://dl.doubtnut.com/l/_JtMjYZ91NZpH
https://dl.doubtnut.com/l/_5r1GDzToMMPr
https://dl.doubtnut.com/l/_X45DrJoodSHb

g L . 1 3 1 1 1
"3z4+y 3z—y 4°2Bzx+y) 23z —y) 8

o Watch Video Solution

9. Formulate the following problems as a pair of equations, and
hence find their solutions:
Ritu can row downstream 20 km in 2 hours, and upstream 4km in 2

hours. Find her speed of rowing in still water and the speed of the

current.

° Watch Video Solution

10. Formulate the following problems as a pair of equations, and

hence find their solutions:

2 women and 5 men can together finish an embroidery work in 4


https://dl.doubtnut.com/l/_X45DrJoodSHb
https://dl.doubtnut.com/l/_MDoFRkIfNAKo
https://dl.doubtnut.com/l/_EDQxmkVUC0oi
https://dl.doubtnut.com/l/_9D4fQPsj69Pa

days, while 3 women and 6 men can finish it in 3 days. Find the time
taken by 1 women alone to finish the work, and also that taken by 1

man alone.

o Watch Video Solution

11. Formulate the following problems as a pair of equations, and
hence find their solutions:

Roohi travels 300km to her home partly by train and partly by bus.
She taken 4 hours if she travels 60km by train and the remaining
by bus. If she travels 100km by train and the remaining by bus, she
takes 10 minutes longer. Find the speed of the train and the bus

separately.

o Watch Video Solution

Ncert Corner Exercise 3 7



https://dl.doubtnut.com/l/_9D4fQPsj69Pa
https://dl.doubtnut.com/l/_TIzpaFMDfndY
https://dl.doubtnut.com/l/_lIVZGcI4WwNr

1. The ages of two friends Ani and Biju differ by 3 years. Ani's father
Dharam is twice as old as Ani and Biju is twice as old as his sister
Cathy. The ages of Cathy and Dharam differ by 30 years. Find the

ages of Ani and Biju.

o Watch Video Solution

2. One says, "Give me a hundred, friend | shall then become twice as
rich as you". The other replies, "If you give me ten, | shall be six
times as rich as you". Tell me what is the amount of their

(respective) capital?

° Watch Video Solution

3. A train covered a certain distance at a uniform speed. If the train

would have been 10 km/h faster, it would have taken 2 hours less


https://dl.doubtnut.com/l/_lIVZGcI4WwNr
https://dl.doubtnut.com/l/_mZ4T8tK1hQ29
https://dl.doubtnut.com/l/_CLT0ogTVqzYc

than the scheduled time. And, if the train were slower by 10km/h, it
would have taken 3 hours more than the scheduled time. Find the

distance covered by the train.

o Watch Video Solution

4.The students of a class are made to stand in rows. If 3 students
are extra in a row, there would be 1 row less. If 3 students are less
in a row, there would be 2 rows more. Find the number of students

in the class.

o Watch Video Solution

5.na AABC, Z/C = 3/B = 2(£LA + £B) find the three angles.

° Watch Video Solution



https://dl.doubtnut.com/l/_CLT0ogTVqzYc
https://dl.doubtnut.com/l/_cJjE6PfEbnBH
https://dl.doubtnut.com/l/_MpNyveQZspSv
https://dl.doubtnut.com/l/_uIhfaqCT84Ch

6. draw the graphs of the equations 5z —y=5and 3z —y =3
Determine the coordinates of the vertices of the triangle formed

by these lines and the y axis.

o Watch Video Solution

7.Solve the following pair of linear equations :
pr+qy=p—4g

T —py=p+gq

o Watch Video Solution

8.Solve:axr +by=c, br+ay=1+c

° Watch Video Solution



https://dl.doubtnut.com/l/_uIhfaqCT84Ch
https://dl.doubtnut.com/l/_Yrf0wR5BW7HI
https://dl.doubtnut.com/l/_256U3A7yBH1z

9. Solve the following system of equations by method of cross-

multiplication: 2 _ %, az + by = a® + V?
a

o Watch Video Solution

10. Solve the following system of linear equations. :
(a —b)z + (a + b)y = a® — 2ab — b?,

(a+b)(z+y) =a® + b

° Watch Video Solution

11. Solve the following pair of linear equations :
152z — 378y = — 74

—378z 4+ 152y = — 604

o Watch Video Solution



https://dl.doubtnut.com/l/_Sk7GN4pW7J81
https://dl.doubtnut.com/l/_IjDQugWfCvIk
https://dl.doubtnut.com/l/_9jM6y1qIRxhZ

12. ABCD is a cyclic quadrilateral (see Figure). Find the angles of the

cyclic quadrilateral.

o Watch Video Solution

Ncert Exemplar Exercise 3 1

1. Graphically, the pair of equations

6z — 3y + 10 = 0

2z —y+9=0

represents two lines which are

A. intersecting at exactly one point

B. intersecting at exactly two point

C. coincident

D. parallel


https://dl.doubtnut.com/l/_IS5RlaqIHgof
https://dl.doubtnut.com/l/_LGYMABVdeytU

Answer: D

o Watch Video Solution

2. The pair of equations £ +2y+5=0and -3z —6y+1=10

has

A. a unique solution

B. exactly two solutions

C. infinitely many solutions

D. no solution

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_LGYMABVdeytU
https://dl.doubtnut.com/l/_uIVtlHccyR2x

3.If a pair of linear equations is consistent, then the lines will be

A. parallel

B. always coincident

C. intersecting or coincident

D. always intersecting

Answer: C

o Watch Video Solution

4.The pair of equations y = 0and y = — 7 has

A. one solution

B. two solutions

C. infinitely many solutions


https://dl.doubtnut.com/l/_O2E0jOdIIXkg
https://dl.doubtnut.com/l/_5oH550i3uVyI

D. no solution

Answer: D

o Watch Video Solution

5. The pair of equations * = a and y = b graphically represents

lines which are

A. parallel

B. intersecting at (b,a)

C. coincident

D. intersecting at (a,b)

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_5oH550i3uVyI
https://dl.doubtnut.com/l/_h2EPhCLl0DpW
https://dl.doubtnut.com/l/_i2rarJ0K4pwz

6. For what value of k, do the equations 3z —y+ 8 =0 and

6z — ky = — 16 represent coincident lines ?

Answer: C

o Watch Video Solution

7. If the lines given by 3z + 2ky = 2 and 2z + 5y + 1 = 0 are

parallel, then the value of k is


https://dl.doubtnut.com/l/_i2rarJ0K4pwz
https://dl.doubtnut.com/l/_l15I6dMjopNF

15
C.

4
5 3
"2

Answer: C

o Watch Video Solution

8. The value of ¢ for which the pair of equations

cx —y = 2 and 6x — 2y = 3 will have infinitely many solutions is
A3
B.—3
C.—12

D. no value

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_l15I6dMjopNF
https://dl.doubtnut.com/l/_TKVJ8DJjIzqa

9. One equation of a pair of dependent linear equations is

—bx 4+ Ty — 2 = 0. The second equation can be

Al0z +14y+4 =0

B.—10z — 14y + 4 =0

C.—10z +14y+4 =0

D.10z — 14y = — 4

Answer: D

o Watch Video Solution

10. A pair of linear equations which has a unique solution x = 2 and

y=-3is


https://dl.doubtnut.com/l/_TKVJ8DJjIzqa
https://dl.doubtnut.com/l/_LCak0sqX1dQn
https://dl.doubtnut.com/l/_qHsraDkLdMyt

Az+y= —1

2r — 3y = — 5
B.2z + 5y = — 11

dr 4+ 10y = — 22
C2x —y=1

3z +2y=20

D.x —4y—14 =0

S5r —y—13 =0

Answer: A::B::D

° Watch Video Solution

M. If x=a, y= b is the solution of the equation
r—y=2and x +y =4, then the values of a and b are,

respectively


https://dl.doubtnut.com/l/_qHsraDkLdMyt
https://dl.doubtnut.com/l/_LAWKzCudpvXi

A.3and 5

B.5and 3

C.3and1

D.—1and3

Answer: C

o Watch Video Solution

12. Aruna has only Rs. 1 and Rs. 2 coins with her. If the total number

of coins that she has is 50 and the amount of money with her is Rs.

75, then the number of Rs. 1 and Rs. 2 coins are, respectively

A.35and 15

B.35and 20

C.15and 35


https://dl.doubtnut.com/l/_LAWKzCudpvXi
https://dl.doubtnut.com/l/_2WA2HrPtSoAa

D. 25 and 25

Answer: D

o Watch Video Solution

13. The father's age is six times his son's age. Four years hence, the

age of the father will be four times his son's age. The present ages

(in year) of the son and the father are, respectively

A. 4 and 24

B.5and 30

C.6and 36

D.3 and 24

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_2WA2HrPtSoAa
https://dl.doubtnut.com/l/_jLftYN9IKJD0

Ncert Exemplar Exercise 3 2

1. Do the following pair of linear equations have no solution?
Justify your answer.
2¢ + 4y =3

12y + 6z = 6

o Watch Video Solution

2. Do the following pair of linear equations have no solution?
Justify your answer.

T =2y y=2x

o Watch Video Solution



https://dl.doubtnut.com/l/_jLftYN9IKJD0
https://dl.doubtnut.com/l/_ezZ1qqnm2wOZ
https://dl.doubtnut.com/l/_jKa1nLH83W4A

3. Do the following pair of linear equations have no solution?
Justify your answer.
3x+y—3=0

2 —|—2 =2
T+ Y=

o Watch Video Solution

4. Do the following equations represent a pair of coincidnet lines?
Justify your answer.

1
3w+7y:3,7w—|—3y:7

o Watch Video Solution

5. Do the following equations represent a pair of coincidnet lines?
Justify your answer.

—2x —3y=1,6y+4x = — 2



https://dl.doubtnut.com/l/_pPQpshxiyLqM
https://dl.doubtnut.com/l/_0CfFz2DV9g4C
https://dl.doubtnut.com/l/_H2AXKmfwcv5Y

o Watch Video Solution

6. Do the following equations represent a pair of coincidnet lines?
Justify your answer.

T Lyt 2 =0
2 TYTE T

5
4:1:-|—8y—|—1—6—0

° Watch Video Solution

7. Are the following pair of linear equations consistent? Justify your

answer.

—3x — 4y = 12,4y 4 3z = 12

o Watch Video Solution



https://dl.doubtnut.com/l/_H2AXKmfwcv5Y
https://dl.doubtnut.com/l/_UUXJu0zgxbtp
https://dl.doubtnut.com/l/_JkgxPgc1dSAP

8. Are the following pair of linear equations consistent ? Justify
your answer.

(i) =3z — 4y = 12and 4y + 3= = 12
(i 3 1 d 1 Sy — 1
i) 2 —y=Sand -z V=3

(iii) 2axz + by = a and 4ax + 2by — 2a = 0,a,b # 0

(iv) x + 3y = 11 and 2(2z + 6y) = 22

° Watch Video Solution

9. Is the following of linear equations consistent ? Justify your
answer.

2ax + by = a, 4dax + 2by — 2a = 0,a,b, # 0

o Watch Video Solution



https://dl.doubtnut.com/l/_RiJFMJbPXmjz
https://dl.doubtnut.com/l/_BIq6fTnBNPgj

10. Are the following pair of linear equations consistent? Justify

your answer.

z + 3y = 11, 2(2z + 6y) = 22

o Watch Video Solution

1. For the pair of equations Az +3y+7=0 and
2x + 6y — 14 = 0. To have infinitely many solutions, the value of A

should be 1. Is the statement true ?

° Watch Video Solution

12. For all real values of ¢, the pair of equations
x — 2y = 8, bx — 10y = c have a unique solution. Justify whether

it is true or false

o Watch Video Solution



https://dl.doubtnut.com/l/_uncSVssCFYzF
https://dl.doubtnut.com/l/_n6OplwWCftbY
https://dl.doubtnut.com/l/_GcSXuNqjUPkR

13. The line represented by x = 7 is parallel to the X-axis, justify

whether the statement is true or not.

° Watch Video Solution

Ncert Exemplar Exercise 3 3

1. For which value(s) of A, do the pair of linear equations

Az +y =X and = + Ay = 1 have

no solution?

° Watch Video Solution

2. For which value(s) of A, do the pair of linear equations

Az +y =X and  + Ay = 1 have


https://dl.doubtnut.com/l/_GcSXuNqjUPkR
https://dl.doubtnut.com/l/_05ijEEsIpL19
https://dl.doubtnut.com/l/_TF0mXLFVEoCN
https://dl.doubtnut.com/l/_p8W5Erq7tWeL

infinitely many solutions?

o Watch Video Solution

3. For which value(s) of A, do the pair of linear equations
Az +y =A% and z + Ay = 1 have

a unique solution?

o Watch Video Solution

4. For which value (s) of k will the pair of equations
kx + 3y = k — 3,
122 + ky =k

has no solution ?

° Watch Video Solution



https://dl.doubtnut.com/l/_p8W5Erq7tWeL
https://dl.doubtnut.com/l/_KuNtm7hmBp4p
https://dl.doubtnut.com/l/_6bzZJM9z5SQu
https://dl.doubtnut.com/l/_DezN8QgKrMrj

5. For which values of a and b will the following pair of linear
equations has infinitely many solutions ?
x+2y=1

(a—bz+(a+by=a+b—2

o Watch Video Solution

6. Find the value(s) of p for the following pair of equations:
3z —y—5=0 and 6z — 2y — p = 0, if the lines represented by

these equations are parallel.

o Watch Video Solution

7.Find the value(s) of p for the following pair of equations:
—x +py=1and px —y =1, if the pair of equations has no

solution.

° Watch Video Solution



https://dl.doubtnut.com/l/_DezN8QgKrMrj
https://dl.doubtnut.com/l/_BYezTHDQSDpv
https://dl.doubtnut.com/l/_5j2rpHEiaQZw

8. Find the value(s) of p for the following pair of equations:
—3z + 5y =7 and 2pz — 3y = 1, if the lines represented by

these equations are intersecting at a unique point.

° Watch Video Solution

9. Find the value(s) of p for the following pair of equations:
2¢ + 3y — 5 =0 and pr — 6y — 8 = 0, if the pair of equations

has a unique solution.

o Watch Video Solution

10. Find the value(s) of p and q for the following pair of equations:
2¢ + 3y = 7 and 2px + py = 28 — qy, if the pair of equations

have infinitely many solutions.


https://dl.doubtnut.com/l/_5j2rpHEiaQZw
https://dl.doubtnut.com/l/_NRYA6H4CHygO
https://dl.doubtnut.com/l/_XIxoOiktlbOz
https://dl.doubtnut.com/l/_7QnhwWorYTLG

o Watch Video Solution

1. Two straight paths are represented by the equations
x — 3y = 2 and —2z + 6y = 5. Check whether the paths cross

each other or not.

o Watch Video Solution

12. Write a pair of linear equations which has the unique solution

x = — 1,y = 3. How many such pairs can you write?

° Watch Video Solution

1B3. If 22 +y =23 and 4z —y =19, then find the values of

Y
Sy — 2 d=—2
y— 2zand ~

° Watch Video Solution



https://dl.doubtnut.com/l/_7QnhwWorYTLG
https://dl.doubtnut.com/l/_EJuxarfBPILQ
https://dl.doubtnut.com/l/_IBKCcy92NVPN
https://dl.doubtnut.com/l/_6hdOb0EDwerw

14. Find the values of x and y in the following rectangle.

——y Yy ————n

'

Ix+y 7

-— |1 — =

° Watch Video Solution

15. Solve the following pair of equations:

x+y="7
4

—— =12z -5 0
2z — by v y#

o Watch Video Solution



https://dl.doubtnut.com/l/_6hdOb0EDwerw
https://dl.doubtnut.com/l/_iBfApgm7xiLp
https://dl.doubtnut.com/l/_ihPj2tvDYWoF

16. Solve the following pair of equations:

T Y 5% 5 Y
LY _ 402 Yy
5T 1 -%%6 "8

° Watch Video Solution

17. Solve the following pair of equations:

6 8
dr + — = 15, 6 — — = 14, 0
” ” y 7

o Watch Video Solution

18. Solve for z and y:

1 1 1 1
———:—1— —_—
2w g g tgy ~8EA0y70)

o Watch Video Solution



https://dl.doubtnut.com/l/_tmnzgrmbegul
https://dl.doubtnut.com/l/_dwxHgULPTTTs
https://dl.doubtnut.com/l/_7blKbSkW4Kg6

19. Solve the following pair of equations:
43z + 6Ty = — 24

67x + 43y = 24

° Watch Video Solution

20. Solve the following pair of equations:

x Y T Y
_ —_— = —_— —:2
—t+ a+b,a2+b2 ,a,b#0

° Watch Video Solution

21. Solve the following pair of equations:

2zy 3 zy -3
z+y 2 2z-—vy 10,:c—|—y750,2:c—y750

o Watch Video Solution



https://dl.doubtnut.com/l/_dG6Gw3oAhQlP
https://dl.doubtnut.com/l/_oWWEjYJHoZDt
https://dl.doubtnut.com/l/_LkbRTCUVUpc9

22. Find the solution of the pair of equations % + % —1=0
T Y :
and 3 + i 15and find A, ify = Ax + 5.

o Watch Video Solution

23. By the graphical method, find whether the following pair of
equations are consistent of not. If consistent, solve them.
(i)8z+y+4=0,6x—-2y+4=0

(ii)x —2y=6,3x — 6y =0

i)z +y=3,3c +3y=29

o Watch Video Solution

24. By the graphical method, find whether the following pair of
equations are consistent of not. If consistent, solve them.

(i)B3x+y+4=0,6c—2y+4=20


https://dl.doubtnut.com/l/_sIvJ5jPElvF9
https://dl.doubtnut.com/l/_h48WHPHTP9u4
https://dl.doubtnut.com/l/_X0Cny6KpmMQm

(ii)x —2y=6,3x — 6y =0

(i +y=3,3z+3y=9

o Watch Video Solution

25. By the graphical method, find whether the following pair of
equations are consistent of not. If consistent, solve them.
(i)Bx+y+4=0,6c—-2y+4=20

(iz —2y=6,3z —6y =0

i)z +y=3,3c+3y=9

o Watch Video Solution

26. Draw the graph of the pair of equations 2x+y=4 and 2x-y=4.
Write the vertices of the triangle formed by these lines and the y-

axis, find the area of this triangle?

° Watch Video Solution



https://dl.doubtnut.com/l/_X0Cny6KpmMQm
https://dl.doubtnut.com/l/_HKsMVh3wiQ2z
https://dl.doubtnut.com/l/_04jqVeiuDRaM

27. Write an equation of a line passing through the point
representing solution of the pair of linear equations x+y=2 and 2x-

y=1, How many such lines can we find?

o Watch Video Solution

28. If (x+1) is a factor of 223 + ax’® + 2bx + 1, then find the value

of a and b given that 2a-3b=4.

o Watch Video Solution

29. If the angles of a triangle are x, y and 40° and the difference

between the two angles x and y is 30°. Then, find the value of x and

o Watch Video Solution



https://dl.doubtnut.com/l/_04jqVeiuDRaM
https://dl.doubtnut.com/l/_u0Ug6dKMIEcf
https://dl.doubtnut.com/l/_gGyY4tImy0Gw
https://dl.doubtnut.com/l/_Pqo2AHdPYG6h

30. Two years ago, Salim was thrice as old as his daughter and six
years later, he will be four year older than twice her age. How old

are they now?

o Watch Video Solution

31. The age of the father is twice the sum of the ages of his two
children. After 20 yr, his age will be equal to the sum of the ages of

his children. Find the age of the father.

° Watch Video Solution

32. Two numbers are in the ratio 5: 6. If 8 is subtracted from each

of the numbers, the ratio becomes 4 : 5, then find the numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_Pqo2AHdPYG6h
https://dl.doubtnut.com/l/_TM6UHMRWlaxb
https://dl.doubtnut.com/l/_hv0PtQKqCAIq
https://dl.doubtnut.com/l/_UwLm0Qy4rTL5

33. There are some students in the two examination halls A and B.
To make the number of students equal in each hall, 10 students are
sent from A to B but, if 20 students are sent from B to A, the
number of students in A becomes double the number of students

in B, then find the number of students in the both halls.

o Watch Video Solution

34. A shopkeeper gives books on rent for reading. She takes a fixed
charge for the first two days and an additional charge for each day
thereafter. Latika paid Rs. 22 for a book kept for six days, while
Anand paid Rs. 16 for the book kept for four days. Find the fixed

charges and the charge for each extra day.

° Watch Video Solution



https://dl.doubtnut.com/l/_UwLm0Qy4rTL5
https://dl.doubtnut.com/l/_cplJP0slyYLv
https://dl.doubtnut.com/l/_mxyCDns75Gkz
https://dl.doubtnut.com/l/_6fP4mYuo3pLv

35. In a competitive examination, 1 mark is awarded for each
correct answer while 1/2 mark is deducted for every wrong answer.
Jayanti answered 120 questions and got 90 marks. How many

questions did she answer correctly?

o Watch Video Solution

36. The angles of a cyclic quadrilateral ABCD are
LA = (6z+10)°, 4B = (5z)°,£4C = (z +y)° and

/D = (3y — 10)°.

° Watch Video Solution

Ncert Exemplar Exercise 3 4


https://dl.doubtnut.com/l/_6fP4mYuo3pLv
https://dl.doubtnut.com/l/_mQ1ZiTETuvkB

1. Graphically, solve the following pair of equations

2x+y=6 and 2x-y+2=0

Find the ratio of the areas of the two triangles formed by the lines
representing these equations with the X-axis and the lines with the

y-axis.

° Watch Video Solution

2. Determine graphically, the vertices of the triangle formed by the
lines

y=X, 3y=x and x+y=8

o Watch Video Solution

3. Draw the graphs of the equations x=3, x=5 and 2x-y-4=0. Also find

the area of the quadrilateral formed by the lines and the X-axis.



https://dl.doubtnut.com/l/_kfTMwiAQtots
https://dl.doubtnut.com/l/_w8bYbGhvu4hO
https://dl.doubtnut.com/l/_rCuW5AM2Ip9E

| o Watch Video Solution

4.The cost of 4 pens and 4 pencils boxes is Rs. 100. Three times the
cost of a pen is Rs. 15 more than the cost of a pencil box. Form the
pair of linear equations for the above situation. Find the cost of a

pen.

o Watch Video Solution

5. Determine, algebraically, the vertices of the triangle formed by
the lines

3x-y=3

2x-3y=2

and x4+ 2y =38

° Watch Video Solution



https://dl.doubtnut.com/l/_rCuW5AM2Ip9E
https://dl.doubtnut.com/l/_zZgm5zX8wi69
https://dl.doubtnut.com/l/_wXDQczZk3Va6
https://dl.doubtnut.com/l/_0CK6tDxQ6eVJ

6. Ankita travels 14km to her home partly by rickshaw and partly by
bus. She takes half an hour if she travels 2 km by rickshaw, and the
remaining distance by bus. On the other hand, if she travel 4 km by
rickshaw and the remaining distance by bus, she takes 9 minute

longer. Find the speed of the rickshaw and of the bus.

o Watch Video Solution

7. A person can row a boat at the rate of 5 km/hour in still water.
He takes thrice as much time in going 40 km upstream as in going

40 km downstream. Find the speed of the stream.

° Watch Video Solution

8. A ,motorboat can travel 30 km upstream and 28 km downstream

in 7 h. It can travel 21 km upstream and return in 5 h. Find the


https://dl.doubtnut.com/l/_0CK6tDxQ6eVJ
https://dl.doubtnut.com/l/_F7RvfqOtf6hW
https://dl.doubtnut.com/l/_q157zuRv4eMC

speed of the boat in still water and the speed of the stream.

o Watch Video Solution

9. A two-digit number is obtained by either multiplying the sum of
the digits by 8 and then subtracting 5 or by multiplying the

difference of the digits by 16 and then adding 3. Find the number.

o Watch Video Solution

10. A railway half ticket cost half the full fare but the reservation
charges are the same on a half ticket as on a full ticket. One
reserved first class ticket from the stations A to B costs Rs. 2530.
Also, one reserved first class ticket and one reserved first class half
ticket from stations A to B costs Rs. 3810. Find the full first class
fare from stations A to B and also the reservation charges for a

ticket.


https://dl.doubtnut.com/l/_q157zuRv4eMC
https://dl.doubtnut.com/l/_2tmACyZbQ1Jf
https://dl.doubtnut.com/l/_fvAUYsi3toUR

o Watch Video Solution

11. A shopkeeper sells a saree at 8% profit and a sweater at 10%
discount, thereby, getting a sum Rs 1008. If she had sold the saree
at 10% profit and the sweater at 8% discount, she would have got
Rs 1028 then find the cost of the saree and the list price (price

before discount) of the sweater.

o Watch Video Solution

12. Susan invested certain amount of money in two schemes A and
B, which offer interest at the rate of 8% per annum and 9% per
annum, respectively. She received Rs 1,860 as annual interest.
However, had she interchanged the amount of investments in the
two schemes, she would have received Rs 20 more as annual

interest. How much money did she invest in each scheme?

| - |


https://dl.doubtnut.com/l/_fvAUYsi3toUR
https://dl.doubtnut.com/l/_7OMVPp8zBq12
https://dl.doubtnut.com/l/_xml25q8BURaR

| & Watch Video Solution

13. Vijay had some bananas and he divided them into two lots A
and B. He sold the first lot at the rate of RS. 2 for 3 bananas and
the second lot at the rate of Rs 1 per banana and got a total of Rs.
400. If he had sold the first lot at the rate of Rs. 1 per banana and
the second lot at the rate of Rs. for 5 bananas , his total collection

would have been Rs 460. Find the total number of bananas he had.

° Watch Video Solution

Board Corner Short Answer Type Questions

1. Find C if the system of equations

cx+3y+(3—¢c)=0,12z + cy — c =0 has infinitely many

solutions?

.y


https://dl.doubtnut.com/l/_xml25q8BURaR
https://dl.doubtnut.com/l/_FNXqiwEMoSYx
https://dl.doubtnut.com/l/_4P0kqXnwKOqs
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2. For what the value of k, the following pair of linear equations
have infinitely many solutions :

2c +3y=T7Tand (k+1)z+ (2k—1)y=4k+1

o Watch Video Solution

3. Find the value(s) of k so that the pair of equations

x + 2y =5 and 3z + ky + 15 = 0 has a unique solution

o Watch Video Solution

4. For what value of k, will the following pair of equations have
infinitely many solutions:

2¢ +3y="7and (k+2)x —3(1 — k)y =5k + 1

.y


https://dl.doubtnut.com/l/_4P0kqXnwKOqs
https://dl.doubtnut.com/l/_m64eXGiURqsB
https://dl.doubtnut.com/l/_yxbH7nbh28Qc
https://dl.doubtnut.com/l/_0wo9c66lwszo

| ' Vvatch viaeo >oilution ]

5. The larger of two supplementary angles exceed the smaller by

18°. Find the angles.

o Watch Video Solution

6. Sumit is 3 times as old as his son. Five years later, he shall be two

and half times as old as his son. How old is Sumit at present?

o Watch Video Solution

7. A father's age is three times the sum of the ages of his two
children. After 5 years his age will be two times the sum of their

ages. Find the present age of the father.

° Watch Video Solution



https://dl.doubtnut.com/l/_0wo9c66lwszo
https://dl.doubtnut.com/l/_K1GS503F7jDf
https://dl.doubtnut.com/l/_9mHl8uu79CF1
https://dl.doubtnut.com/l/_fcONrANi8M6u

1
8. A fraction becomes § when 2 is subtracted from the numerator

and it becomes 2 when 1 is subtracted from the denominator.

Find the fraction.

o Watch Video Solution

9.1n Fig.ABCD is a rectangle. Find the values of xand y
X+ y

) C
|
14 em X =y
AT 30 cm 8

° Watch Video Solution

Board Corner Long Short Answer Type Questions


https://dl.doubtnut.com/l/_fcONrANi8M6u
https://dl.doubtnut.com/l/_gQw21gcUXlpn
https://dl.doubtnut.com/l/_HiHMdPRkjPIU

1. A boat goes 30 km upstream and 44 km downstream in 10 hours.
In 13 hours, it can go 40 km upstream and 55 km downstream.
Determine the speed of the stream and that of the boat in still

water.

o Watch Video Solution

Multiple Choice Questions

1.The value of xand yin 2x + 3y = 2 and « — 2y = 8 are

A —4,2
B.—4, — 2
c.4, —2

D.4,2


https://dl.doubtnut.com/l/_kcG8rYfG3mm9
https://dl.doubtnut.com/l/_JDKwYnUCQMoj

Answer: C

o View Text Solution

2.The values of xand yin 2z +y+1=0and 2z -3y +8 =0

are:

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_JDKwYnUCQMoj
https://dl.doubtnut.com/l/_ePXiBQ0kV92s

3. The perimeter of an isosceles triangle is 65cm and th eunequal

side is thrice as large as each of the equal sides. The length of the

sides are:

A.13,13,39

B. 39,39,26

C. 13, 26,26

D. 13,13,26

Answer: A

o View Text Solution

4. The value of k for which the system of linear equations

x + 2y = 3,5x + ky + 7 = Ois inconsistent is:

a4
E


https://dl.doubtnut.com/l/_dppj0IxJVkWt
https://dl.doubtnut.com/l/_dyG4IfeliUKc

C.5

Answer: D

o View Text Solution

5. The value of k for which the system of equations

x+vy—4=0 and 2z + ky = 3, has no solutions, is

B. # 2
C.3

D.2

Answer: D


https://dl.doubtnut.com/l/_dyG4IfeliUKc
https://dl.doubtnut.com/l/_S1DrjlgozhKZ

° View Text Solution

6. The pair of linear equations 2x + 3y = 4 and 3z + 4y = 9 has

A. infinitely many solutions

B. no solution

C. one unique solution

D. two solutions

Answer: C

° View Text Solution

7. A system of simultaneous linear equations is said to be

inconsistent, it it has:

A. one solution


https://dl.doubtnut.com/l/_S1DrjlgozhKZ
https://dl.doubtnut.com/l/_mkEqC2aAwCKu
https://dl.doubtnut.com/l/_tbFjk68q13QO

B. two solution

C. no solution

D. infinite solutions

Answer: C

o View Text Solution

8.If a pair of linear equations is inconsistent, then the lines will be:

A. coincident

B. parallel

C.intersecting

D. can't say

Answer: C

| o Vs Tanrk Ol skl a


https://dl.doubtnut.com/l/_tbFjk68q13QO
https://dl.doubtnut.com/l/_X13W5ILre7Cz

L VICVY ICAL JVIULIVII )

9. The system of equations 3z +y —4 =0 and 6z +2y -8 =0

has:

A. a unique solution x= 1, y=1

B. a unique solution x= 0, y=4

C. no solution

D. infinite solutions

Answer: D

o View Text Solution

10. The value of k, for which the system of equations

3z — ky — 20 = 0 and 6z — 10y + 40 = 0 has no solution, is:


https://dl.doubtnut.com/l/_X13W5ILre7Cz
https://dl.doubtnut.com/l/_jEcOfRVQRbTI
https://dl.doubtnut.com/l/_cydZhpRx00dS

A.10

B.6

C.5

D.3

Answer: C

o View Text Solution

1. If the pair of linear equations
2c +3y =11 and (m +n)z + (2m —n)y —33 =0 has
infinitely many solutions, then the values of m and n, are ....and.....

respectively.

A. 5]

B.1,2


https://dl.doubtnut.com/l/_cydZhpRx00dS
https://dl.doubtnut.com/l/_aEUwAS1uDwsn

c.—1,5

D.1, — 5

Answer: A

o View Text Solution

12. The sum of the digits of a two digit number is 9. If 27 is added

to it, the digits of the number get reversed. The number is.....

A.36

B.63

C. 27

D.72

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_aEUwAS1uDwsn
https://dl.doubtnut.com/l/_n8pkee2bXuAr

13. The pair of equation x +2y+5=0and —3z —6y+1=0

have:

A. a unique solution

B. exactly two solutions

C. infinitely many solutions

D. no solution

Answer: D

o View Text Solution

14. If a pair of linear equation is consistent, then the lines will be

A. parallel


https://dl.doubtnut.com/l/_n8pkee2bXuAr
https://dl.doubtnut.com/l/_wZ02xKnv6dbN
https://dl.doubtnut.com/l/_xp8i5ixrqcsG

B. always coincident

C. intersecting or coincident

D. always intersecting

Answer: C

o View Text Solution

Very Short Answer Type Questions

1.Find the values of xandyin3z + 2y =4 and 22z — 3y =7

o View Text Solution

2. Find the values of X and y

2r —b5y+4=0and 2z +y—8=0



https://dl.doubtnut.com/l/_xp8i5ixrqcsG
https://dl.doubtnut.com/l/_x2DDP8ceQipy
https://dl.doubtnut.com/l/_tz3xCU2h5pU9

| J View Text Solution

3. Given the linear equation x — 2y — 6 = 0, write another linear
equation in these two variables, such that the geometrical
representation of the pair so formed is:

coincident lines

o View Text Solution

4. Given the linear equation * — 2y — 6 = 0, write another linear
equation in these two variables, such that the geometrical
representation of the pair so formed is:

intersecting lines

o View Text Solution



https://dl.doubtnut.com/l/_tz3xCU2h5pU9
https://dl.doubtnut.com/l/_7SH7tYjbXWMU
https://dl.doubtnut.com/l/_0dWRF3pim6wB

5. A number consists of 2 digits. The sum of the digits is 12 and the
units digital when divided by the tens digit gives the result as 3.

Find the number.

o View Text Solution

6. The cost of 2 kg apples and 1kg grapes was Rs 160. After a month,
the cost of 4kg apples and 2kg grapes was Rs 300. Represent the

situation algebraically

o View Text Solution

7. Cost of 2 pens and 3 pencils together is Rs 40 and cost of 6 pens
and 9 pencils together is Rs 130. Express above statement in the

form of linear equations.

° View Text Solution



https://dl.doubtnut.com/l/_OK9AcnWL6c0W
https://dl.doubtnut.com/l/_z74zstUIJnvO
https://dl.doubtnut.com/l/_V1huXlN76sOU

8. Cost of a burger is Rs 20 more than the cost of juice of one glass
of orange. If cost of one burger and one glass of orange juice is Rs

60. Find the cost of each.

° View Text Solution

9.Solve for x and y: mx —ny:m2 + n? and T +y=2m

° View Text Solution

10. Solve for X and y

152z — 378y = — 74 and — 378z + 152y = — 604

o View Text Solution



https://dl.doubtnut.com/l/_V1huXlN76sOU
https://dl.doubtnut.com/l/_kO5PVG2rv2hY
https://dl.doubtnut.com/l/_Km94qtZri6wq
https://dl.doubtnut.com/l/_JgM5MjqxVX2Z

11. Determine the value of k, for which the given system of
equations has infinitely many solutions:

kx +3y=k—3 and 122 + ky = k

° View Text Solution

12. Determine the value of k, for which the given system of
equations has no solution:

3z+y=1and (2k—Dz+(k—Dy=2k+1

° View Text Solution

13. For what value of k will the system of equations
x+ 2y =>5 and 3z + ky — 15 = O has

a unique solution

o View Text Solution



https://dl.doubtnut.com/l/_ebY23Ozyg70G
https://dl.doubtnut.com/l/_dQh4CCj4k5hR
https://dl.doubtnut.com/l/_ImjYEH1EdhLO

14. For what value of k will the system of equations
x+2y=>5 and 3z + ky — 15 = O has

infinite solutions?

° View Text Solution

15. Determine the value of a and f for which the given system of
equations has infinitely many solutions:

2¢ + 3y = 7 and 2az + (a + B)y = 28

o View Text Solution

16. For what value of k will the system of equations
(3k+ 1)z +3y—2=0and (k*+1)z + (k—2)y—5=0 has

no solution ?



https://dl.doubtnut.com/l/_ImjYEH1EdhLO
https://dl.doubtnut.com/l/_Xd5FsMMBQyq7
https://dl.doubtnut.com/l/_U6IiBeq7jmfk
https://dl.doubtnut.com/l/_AwQZaYjuNQew

o View Text Solution

17. For what value of k will the system of equations

4z + ky + 8 = 0 and 2z + 2y + 2 = 0 has a unique solution?

° View Text Solution

18. For what value of a will the system of equations

azr + 3y = a — 3 and 12z + ay = « has no solution ?

° View Text Solution

Short Answer Type Questions

1. Solve for X and y

ax +by—a+b=0and bx —ay—a—-b=0


https://dl.doubtnut.com/l/_AwQZaYjuNQew
https://dl.doubtnut.com/l/_6WJuV6KWbxVm
https://dl.doubtnut.com/l/_DbbKJ4kY3Npk
https://dl.doubtnut.com/l/_ouqK76BDBgTt

o View Text Solution

2. Find the value (s) of k so that the pair of equations

x + 2y =5 and 3z + ky + 15 = 0 has a unique solution

o View Text Solution

3.Solve forxand y: 0.4x — 1.5y = 6.5 and 0.3z + 0.2y = 0.9

° View Text Solution

4. Solve for X and y:

(@ —b)z + (a + b)y = a®> — 2ab — b* and (a + b)(z + y) = a®> + b°

° View Text Solution



https://dl.doubtnut.com/l/_ouqK76BDBgTt
https://dl.doubtnut.com/l/_yZ6ACdeLX4h5
https://dl.doubtnut.com/l/_zivcmBxTWx34
https://dl.doubtnut.com/l/_2PKSF5Z3e8vz
https://dl.doubtnut.com/l/_jiAoqAnS8TID

5. Determine the value of a and b for which the given system of
equations has infinitely many solutions:

(2a —1)z+3y—5=0and 3z + (b—1)y—2=0

° View Text Solution

6. Find the value of k for which the following pair of linear
equations have infinitely many solutions.

2c +3y="7,(k+1)z+ 2k —1)y=4k +1

o View Text Solution

7. Determine the values of a and b for which the given system of
equations has infinitely many solutions:

2c +3y="T7and (a —b)z+(a+by=3a+b—-1

° View Text Solution



https://dl.doubtnut.com/l/_jiAoqAnS8TID
https://dl.doubtnut.com/l/_CssaMwy2TIwA
https://dl.doubtnut.com/l/_mIj57EOkXewn

8. Determine the value of a for which the given system of equations
has infinitely many solutions:

2c +3y="7and (a — )z + (a +2)y = 3a

° View Text Solution

o. Find C if the system of equations
cx+3y+(3—¢c)=0,12z + cy — ¢ =0 has infinitely many

solutions?

° View Text Solution

10. Determine the value of k for which the given system of
equations has infinitely many solutions:

z+(k+1)y=5and (k+ 1)z +9y = (8k — 1)

o View Text Solution



https://dl.doubtnut.com/l/_wRkKymFBq6bW
https://dl.doubtnut.com/l/_3FZ5YmYonwEA
https://dl.doubtnut.com/l/_Hf2tQKMakFpf

1. Solve for X and y:

b—m—a—;;—ka—i—b:Oa,nd bx — ay + 2ab =0
a

° View Text Solution

12.So|veforxandy£ + % = 2 and ax — by = a? — b?
a

° View Text Solution

13. For what value of k will the system of equations
kx + 3y = (2k + 1) and 2(k + 1)z + 9y = (7k + 1) has infinite

solutions ?

o View Text Solution



https://dl.doubtnut.com/l/_Hf2tQKMakFpf
https://dl.doubtnut.com/l/_nnpT9lJ0eHm2
https://dl.doubtnut.com/l/_KlXVneWBVWAT
https://dl.doubtnut.com/l/_oRppMNVRD4vK

Long Answer Type Questions

1. Check graphically whether the pair of equations
3

3z —2y+2 =0 and 2T -Y + 3 = 0is consistent. Also find the

coordinates of the points where the graphs of the equations meet

the Y-axis

o View Text Solution

2. Solve the following system of linear equations graphically
x—y+1=0 and 3z + 2y — 12 = 0. Calculate the area of the

region bounded by these lines and the X-axis

o View Text Solution



https://dl.doubtnut.com/l/_0iqBMU8C81fL
https://dl.doubtnut.com/l/_YsGgz8gFcT5y

3. Draw the graph of the following pair of linear equations:
x+ 3y =06 and 2x — 3y = 12
Find the ratio of the area of the two triangles formed by first line,

x= 0, y= 0 and second line, x=0,y=0

° View Text Solution

4. Draw graph of the following pair of linear equations:
y=2(z—1)

dr +y =4

Also write the coordinate of the points where these lines meets X-

axis and Y-axis

o View Text Solution

Assertion And Reasoning Based Questions



https://dl.doubtnut.com/l/_d7NXlfsJGpis
https://dl.doubtnut.com/l/_ONndaitanOwE
https://dl.doubtnut.com/l/_AqMUUeSIizoI

1. Assertion: z +y — 4 = 0 and 2z + ky — 3 = 0 has no solution
if k=2
Reason: a1x +biy+c =0 and asx + by +cy =0 are
: . a b
consistent if — # —L
az by
A.Both the Assertion and the Reason and correct and the
Reason is the correct explanation of the Assertion
B.Both the Assertion and the Reason and correct and the
Reason is not the correct explanation of the Assertion

C. Assertion is true but the Reason is false

D. Assertion is false but the Reason is true

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_AqMUUeSIizoI

2. Assertion: If the system of equations
2¢ + 3y = 7 and 2ax + (a + b)y = 28 has infinitely many
solutions,then 2a — b = 0
Reason: The system of equations 3z — 5y = 9 and 6z — 10y = 8
has a unique solution
A.Both the Assertion and the Reason and correct and the
Reason is the correct explanation of the Assertion
B.Both the Assertion and the Reason and correct and the
Reason is not the correct explanation of the Assertion

C. Assertion is true but the Reason is false

D. Assertion is false but the Reason is true

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_165YRPn2sT2W

Self Assessment

1. Given the linear equation 2z 4+ 3y — 8 = 0, write another
equation in two variables such that the graphical representation of
the pair so formed is

intersecting

° View Text Solution

2. Given the linear equation 2z 4 3y — 8 = 0, write another
equation in two variables such that the graphical representation of
the pair so formed is

parallel

o View Text Solution



https://dl.doubtnut.com/l/_pTqLMrys9Ryq
https://dl.doubtnut.com/l/_nwtMR3p94bAL

3. Given the linear equation 2x 4 3y — 8 = 0, write another
equation in two variables such that the graphical representation of
the pair so formed is

coincident

o View Text Solution

x
4. Solve fi dy: — — == — — — =14
olve for xand y 5 3 12 3
o View Text Solution
x Yy 2 2
5.So|veforxandy:z—|—3—2and ax —by=a"—b

o View Text Solution



https://dl.doubtnut.com/l/_eKo1qWANRuHy
https://dl.doubtnut.com/l/_pT60IhtlgApk
https://dl.doubtnut.com/l/_uSj1s4889QCa

6. Find the values of xandyin 2z + 3y =8 and z —2y+3 =0

are:

o View Text Solution

7. The values of xandy in 2 —by+4=0and 2¢ +y—8 =0

are:

° View Text Solution

8.Find the values of xandyin 2z + 3y = 2 and = — 2y = 8

o View Text Solution

9. Determine the value of k for which the given system of equations

has infinitely many solutions:


https://dl.doubtnut.com/l/_Vdxf3Uix24eR
https://dl.doubtnut.com/l/_cwBQQX11FfwI
https://dl.doubtnut.com/l/_1YA3iG3U2a06
https://dl.doubtnut.com/l/_Sf9TwjjmCFAE

z+(k+1ly=5and (k+ 1)z +9Y=8k—1

° View Text Solution

10. Determine the value of k for which the given system of
equations have no solution:

3r —y—5=0and 6z —2y+ k = O0wherek #£ 0

o View Text Solution

11. Determine the values of a and b for which the given system of
equations have infinitely many solutions:

2c —3y=T7and (a+bz—(a+b—3)y=4a+b

° View Text Solution



https://dl.doubtnut.com/l/_Sf9TwjjmCFAE
https://dl.doubtnut.com/l/_jdapfwPc8Hg2
https://dl.doubtnut.com/l/_4gpyVK6WZBzJ

12. For what value of k, will the following pair of equations have
infinitely many solutions:

2c +3y="7and (k+2)x —3(1 —k)y =5k +1

o View Text Solution

13. Solve the following linear equations algebraically:

(@ —b)z + (a + b)y = a®> — 2ab — b* and (a + b)(z + y) = a®> + b°

° View Text Solution

14. For what value of k will the system of equations
2¢ + (k —2)y =k and 6z + (2k — 1)y = 2k + 5 has infinite

solutions ?

o View Text Solution



https://dl.doubtnut.com/l/_Zp37Ps49ijjB
https://dl.doubtnut.com/l/_SojK0VLhrRer
https://dl.doubtnut.com/l/_RVlHKXQceFlH




